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Pentose phosphate pathway 

*The pentose phosphate pathway is divided into : 

( Hexose Monophosphate Shunt or HMP-shunt )

Irreversible redox stage , 
which yields both NADPH and 
pentose phosphates

Reversible interconversion 
stage , in which excess pentose 
phosphates are converted into 
glycolytic intermediates

HMP shunt
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*TPP : Thiamine Pyrophosphate 
( Vitamin B1 ) 

Xylulose-5-P لا عم هكبشنب داه
 : ريصبف ينتنوبرك هلقننب و

 لا قيرط نع
Transketolase

TPP

Fructose-6-P

Glyceraldehyde-3-P راص ينتنوبرك هنم انلش ام دعب داه و

 ةيلمع ولخدي وردقب لوده*
 Glycolysis لا
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Most of the NADPH formed in the red cell is used 
by glutathione reductase which is a flavoprotein 
enzyme ( contains FAD ) to maintain GSH in the 

reduced state

*Favism is an X-linked recessive disorder , involving a deficiency in glucose-6- phosphate 
dehydrogenase ( G6PD ) , an enzyme that is essential for the survival of red blood cells .

This enzyme deficiency lead to decreased concentration of NADPH , so 
the RBCs capacity to protect themselves from oxidative damage is 
decreased

Favism
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